Instruction Manual And
Safety Instructions



Thank for your purchase of the EZ Roller Beach Wheelchair.

We build the Ez Roller with the highest quality materials, keeping
in mind the comfort and positioning of the rider.

If any repairs should be required, please do not attempt them
without proper technical training. Please contact your nearest
distributor for any repairs, or adjustments needed

This Instruction Manual contains the following

Index Page
1 Usage and Safety Information
2 Assembly/Dissassmbly of Ez Roller
3 Installation/Removal of Pontoons
4  General Specifications and Warranty

All information in this manual is subject to change without prior
notice. Please contact your distributor for the latest version.

Thank-you
The De-Bug Mobility Products Team



Usage and Safety Information
Safety Warning

The EZ Roller should not be used during inclement weather.
Please refrain from using during severe weather, dangerous surf
and/or rough ocean currents, rip tides and any other poor
conditions.

To ensure their safety, all users should wear a lifejacket when
using the EZ Roller while in the water. The EZ Roller is not
intended to be for dangerous and or rough water conditions. These
include, but are not limited to rip currents, waves, undertow etc.
We recommended the chair be used only when a lifeguard is
present. Safety comes first!

Users must always be accompanied by a responsible, able-bodied
adult.

Using your EZ Roller

Always maintain control of your EZ Roller while in use. When the
EZ Roller is not in use, the safety brakes must be engaged to
prevent the chair from moving unexpectedly.

The EZ Roller was built not to tip over, even when used over
uneven surfaces. However, to ensure safety, and prevent injury,
the user must always wear the seatbelt while using the EZ Roller.
This is imperative to the user’s safety.

Do not use the components of the EZ Roller for any purpose other
than what is intended. Do not have more than one person using the
EZ Roller at one time. When using the detachable pontoons, do
not sit on them, or use them to lift the chair



EZ Roller Assembly Components

1. 1/4"-20x2-1/4"SS welded Hex Bolt with Nylon Insert Nut, 4ea

2. 1/4"-20x1-1/4"SS Phillips Bolt with Cap Nut, 8ea

3.1/4"-20x1-1/4"SS Socket Cap Bolt with Cap Nut, 4ea

4.1/4"-20x1-1/4"SS Hex Bolt with Nylon Insert Nut, 2ea

5.1/4” x1-1/4“ SS Marine Quick Release Pin, 4ea

6.5/16”-18x2-1/4” SS Hex Bolt with Nylon Insert Nut & Nylon Washers, 4ea
7.3/8”-16x2-1/4” SS welded Hex Bolt with Nylon Insert Nut, 2ea

8. *Note Pontoon Mount installed under Chair Frame for 42 cm Main Wheel
9. ~Note Brake Clamp Orientation is mirrored when using 42cm vs. 49cm

Main Wheel
10.# Setup with 42 cm Main Wheeleez Rear Wheel

1. % 20x2-1/4"SS welded Hex Bolt



Pontoon Assembly Instructions

Depress this button to insert or remove Pin.

1/4” SS Quick Release Pin

'.‘ i S 10 cm Wheel

5/16” Nylon Flat Washer x 2 each

Pontoon Mounting Orientation
“Under Frame”
for 42cm Wheeleez Main Wheel



General Specification and Warranty Information

The EZ-Roller frame 1s constructed using #316L Stainless Steel
tubing, which is a higher grade than standard “#304 marine grade”
stainless.

Weight capacity 350 pounds.

The front Caster wheel rotates 360 degrees. The wheel hub is made
from poly-nylon material to eliminate saltwater corrosion.

The EZ Roller has a footrest for proper foot support.

Wheel Lock —Adjustable tension wheel brake can be actuated
independently on each side,

Chair weight-Forty pounds for a standard adult chair
Chair width 1s~33.5 inches to access a 36-inch doorway

30 DAY Money Back Guarantee

Ten-year warranty
Components & Frame #316L series Stainless Steel “the higher the
number the higher quality of Stainless”

Two-year warranty

Seating-Material is Phiffertex Plus brand Nylon which is non-
absorbent, durable and U.V. resistant. Seating is removable and
machine washable.

Two-year warranty
Tires-3ply polyurethane, specifically designed to smoothly roll
across sand, dirt, grass, and other uneven terrain



General Maintenance

It’s so easy to maintain your EZ Roller beach wheelchair! Just
follow these simple instructions, and you will be able to enjoy your
chair year after year.

Rinse the chair off with clean water to remove any sand or debris
after each use.

The sling material is removable and machine washable.

Check tire pressure before each use. These wheels are meant to be
pliable and somewhat “Soft” to the touch. Recommended tire
pressure is 2.5 to 4 PSI. These specifications are molded on each
wheel.

If at anytime you need to lubricate any part of the chair, DO NOT
USE WD-40, as it will attract dirt and sand causing possible
damage to the wheel bearing/bushings. We recommend P.T.F.E
Dry Lube, on all wearing components. This dry film is a superior
lubricant and repels debris and water .

Marine and Performance parts stores likely stock this locally.



